Math 2: Triangle Similarity
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9. Given: AB | €D, AB = 2CD, AC = 2CE 10. Glven: CD = 3AC, CE = 38C
H-ME-AOI Prove: AABC ~ ADEC
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. AT X=10/ F =108 Um
11. Measurement Jenny is 5 ft o NS AT, o,
2 in. tall. To find the height of
a light pole, she measured her
shadow and the pole’s shadow.
What is the height of the pole?

12. Surveying In order to measure
the distance AB across the
meteorite crater, a surveyor at
S locates points A, B, C, and D
as shown. What is AB to the
nearest meter? nearest kilometer?
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13.Given that APQR ~ AWXY, find each ratio. ) L
perimeter of APQR 12 1 2l hg= %
" perimeter of AWXY 1 |
areaof APQR . [ | /7
" areaof AWXY 4 .
¢. How does the result in part a
compare with the result in part b?

Find the perimeter of the given triangle.
14. ADEF, if AABC ~ ADEF,AB =5, 15.AWZX, if AWZX ~ ASRT, ST = 6,

BC =6, Aq 7,and DE = 3 WX = 5, and the perimeter of
ASRT = 15
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16. MULTI-STEP PROBLEM Use the following information about similar

triangles AABC and ADEF.

The scale factor of AABC to ADEF is 15:2.

The area of AABC is 25x. The area of ADEF is x — 5.

The perimeter of AABCis 8 + y. The perimeter of ADEF is 3y — 19.

a. Use the scale factor to find the ratio of the area of AABC to the area of a

ADEF. ast (%) = 35_;
x—
b. Write and solve a proportion to ﬁnd* the value of x.
¢. Use the scale factor to find the ratio of the perimeter of AABC to the
perimeter of ADEF. Pra .
. . m—‘? q 15, -15L v 3%
d. Write and solve a proportion to find the of y. - o i ST S
e. WnpExplamhowyouoouldﬁndthevalueofzanB 225andthe | s

length of the corresponding side DE is 13z — 10 AB + DE e Cox. sides —- = 13210
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